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Jeded LATILIDTD

1. Height of a conical pile of gravel. ,
Activate| vl
Gravel is being dumped from a conveyor belt at a rate of 10 cubic feet per
minute. It forms a pile in the shape of a right circular cone whose base

diameter and height are always the same. How fast is the height of the pile -r_,?' ;
increasing when the pile is 23 feet high? Recall that the volume of a right ¥
circular cone with height h and radius of the base r is given by V = %mﬁh. 1" [ e
When the pile is 23 feet high, its height is increasing at feet per : o
minute,

1 /{ »
2. Movement of a shadow. ~ <.° [ ¢ PR de "
Activate | AT ‘

A street fight is at the top of a 13 foot tall pole. A 6 foot tall woman walks —m -
away from the pole with a speed of 6 ft/sec along a straight path. How fast is 3
the tip of her shadow moving when she is 30 feet from the base of the pglgs TS

The tip of the shadow is moving at ft/sec. &

6 /3 @
3. A_lgakmg conical tank. Fs = 13X <=
|Activate|
Water is leaking out of an inverted conical tank at a rate of 9600.0 cm®/min 5:‘_% 13 Ay
at the same time that water is being pumped into the tank at a constant At F A
rate. The tank has height 7.0 m and the the diameter at the top is 5.0 m. If 3, L
the water level is rising at a rate of 22.0 cm/min when the height of the YR A
water is 1.5 m, find the rate at which water is being pumped into the tank in
cubic centimeters per minute. = ?;:5 L;S
Answer: cm® /min ( ~ 4:73 >

4. Asailboat is sitting at rest near its dock. A rope attached to the bow of the
boat is drawn in over a pulley that stands on a post on the end of the dock that
is 5 feet higher than the bow. If the rope is being pulled in at a rate of 2 feet per
second, how fast is the boat approaching the dock when the length of rope from
bow to pulley is 13 feet?

5. A swimming pool is 60 feet long and 25 feet wide. Its depth varies uniformly
from 3 feet at the shallow end to 15 feet at the deep end, as shown in the
Figure 3.5.5.
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